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ECONOMICS
( General )
Paper : 6.2

( Planning and Development in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate Jull marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
waTe A epeared e fal

(a) Mention one basic feature of Indian
economy. . .

Ww@@?aﬁﬁm%m#w:

(b) Write the full form of FPL. ;
FPI-3 < FC01 fora |

(¢ What is the meaning of economic
liberalization?

weffee Traeary w2
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(2)

Why is Indian economic planning called
democratic planning?

SReT AT ARFETE Row stz sk
Qe ? |

()

2. Ansvs}er the following questions :

(3)

Mention one objective of Indira Awaas
Yojana.

Sl TR AR <GB SoreD o |

(e) In which year was the Twelfth Five-Year were Al erPTRe Ted fira -

Plan i . .

lan introduced in India? (a) State any two basic features of a

I 7S ©lgoe A AN ARTEA W< developing economy.  °

et s S RIS 3 R T 1 S A
() State any one achievement of Indian fera

economic planning. (b) Mention any two long-term Vobjectives of

- SRy AT ARTEIR R @ GO s India’s Five-Year Plan.
Sy 01 Rt e ok R P 101 AL
. : o SoEd 901

(g) Mention one demerit of decentralized - i

planning. () Give the meaning of democratic

ReeBige ARTTTR 1 oot Seary w41 | planning,

' sqolfae fResmR wyf o |

Write one function of - i

(h) rite 0 - of North-Eastern (d) State two important features of economic
lobalization policy of India.
-9 AR b1 ¢

eI - st | R ST R AT P eF

(i) State one weakness of the poverty G T

alleviation programmes undertaken by

the Government of India.

SRS 5PN WREel RAFIR Towen a7 =0
- ﬁ L.y @T ﬁ .rw % W l

L.

(e)

Write any two achievements of tl?e
North-Eastern Council in the economic
development of Assam.

T AR TS Tad-of AR R e
w1 el ford |

2x5=10
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3. Answer any four of the following questions :
5x4=20

oot fiar R @1 oot o Tey fam -

(@) Why is Indian economy considered as
mixed economy?

sReR wdAfeF R fi wd@ifs I cemr =W 2

(b) Briefly state the role of NEC in economic
development of N-E India.
Teg-oRfee ST Tme Te-o) Rk e
ST ST 39 0

(c) In the context of economic liberalization
in Indian economy, do you think that the
importance of Five-Year Plans has
declined? Give reasons in support of your
answer.

THeR HYART TRFIR AfReafros vl
HRFER @ 2P IR I Bt SR 2 o™
e TS e i |

(d) Suggest any five measures for the
success of decentralized planning in
Assam.

e Reidge RFEER TFeR FRe &
CRIGAT #iTo51 ofrre{ SSICer |
(e) Write a note on India’s look-east policy’.

TSR “ofEte ol S’ Ry ¢S e o o

AT/61Y { Continued )

S~ -

(5)

(/) Point out any five areas of failure of

India’s Five-Year Plans.
ST RIS RFEAR R @I «iivor [Reerer
w1gferiX fram |

4. Answer the following questions : 10x4=40
ere fian ey ed fi

(a) Explain the basic features and

(b)

A7/611

consequences of economic globalization
in India.

SHeY HNARST CIERFIIT A4 CIRBPTIR
HIF FEFeICE BIRA F97 |

Or / %11

Discuss the broad strategies and goals
of Indian planning adopted during
post-liberalized period.

Olgeq Wﬁ? Wﬁg IAICREATS '\Wﬂhﬁﬂi
TR MR A>9I Rgo Qe I

SIPTIR SICATo] 41 |

Discuss about the present composition of
foreign trade in India.

Sefes FET© OFed (AERE e 515
SooicE AT 4T |
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{ 6 )

Or / 9€1

What do you mean by FDI? Explain the

* role of FDI in the economic development

()

(@
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of India.

oo OPR R T & W2 SReE
weifos deorm (e Rt g
1

Define economic planning. Discuss the
rationale of economic planning in the
economic development of India.

e ARTEAR A i | ses wAfeT
e deR ARTEIR JETO ST
eIl

Or / 911

Write an essay on ‘NITI \Aayog’.
R SEY 8RS @3 To o |

Give the full form of MGNREGA. Explain
the problems for successful
implementation of MGNREGA.

MGNREGA-T ¥ %*(thl 141 | MGNREGA-I
e IR CFAS T T APPRE. M
ol

4

(7))

Or / 91

Justify the need for poverty alleviation
programme for India. Give your
suggestions for successful
implementation of poverty alleviation
programmes adopted in India.

oY AW RGOl YA Wi AW
AEEAEeR icE IS i | sIey wRwel

rﬁwqwﬁﬂ{qwzﬁﬂm«mmﬁw
H5ICEHRI |
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